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401 AIZBIL 2T 86,200 400,000 £313,800
2 43,100
2 43,100
01 AlZH] 8,424 369,120 283,696
OAITHASOI LA X XIS XI2 85,424,002 85,424
2 43,100
2 42,324
03 Al&=2CHE| 776 2,880 ~2,104
OATHAOIAXI XIZIKI SCHH]
86,200, 000240, % 776
AITHASO LA K] ZEE4 X AL 100,000 100,000 0
= 16,348
2 83,652
402 DI2EXFR0I & 100,000 100,000 0
= 16,348
2 83,652
02 CIRII= AT 2 Z (01K 100,000 100,000 0
OAITHAOI LA K] Z=E4RI At
2,000,00024+500+ 7 100,000
= 16,348
2 83,652
GILIXI Al IR AR (FI2015) 15,000 40,000 225,000
= 3,000
2 12,000
403 TXISHHS =01 & 15,000 40,000 225,000
= 3,000
2 12,000
02 SO HSUHER=R I A 15,000 40,000 225,000
OMDIZ FIIAL THEAIR 2000002575772 15,000
= 3,000
2 12,000
H2ES S 65,000 90,000 225,000
2 3,500
2 32,500
401 Al2HI LS TH| 65,000 90,000 225,000
2 3,500
2 32,500
01 AlZH] 65,000 90,000 225,000
OXASS SUA(LHORI0IY 2 5HA LE
DIA) 65,000,002 65,000
2 32,500
2 3,500
ATHASOI LA X S=EHKIAS 1,025,626 0 1,025,626
2 550,790
2 474,836
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SN Bt
HE: AT B4
Sh9l: ATHAO LA X BB AL (el &)
. i - PSEL =
S - ZE - SRI(S1) - HRAY - BAS 04 b0t Sl Ao HIRE2
402 2I2EXHE01 M 1,025,626 1,025,626
= 550,790
[ia 474,836
02 DIZEXHE AL B (0| M THEA) 1,025,626 1,025,626
OLITHAIA X B=EKI2 A
1,025,626,0002 1,005,626
2 550,790
i 474,836
22E g E5AE 494,000 494,000
= 247,000
i 247,000
401 AlEHIZL 048I 494,000 494,000
= 247,000
2 247,000
01 AI&H] 490,443 490,443
OZ2Y B EXIAMS 490,443,000& 490,443
= 247,000
A 243,443
03 Al =0 3,557 3,557
OF2Y BIYY XA SO
494,000,000&0.72% 3,557
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